D)4 @—% @ 0 ® -06

D -1.3




the 5 FOIA QENA 7 7he Hol skt S ol A4
?

gl

O +2 @ -1.38 ® +35 @-0.5 ® -24

AYANA 44 ke AL gkl A 2 Soltt.




=
Fadot. x of g o

A

%]_
gy x o =2

@ x=-5, (-4)-(-1)

@ x=3, (+4) + (-1)




Axtstod=t,

=
=

-5-1+4+6-12

4.

.12

ul
El

<0




o9x—2=3

)
oF

s

@B‘th& D bx—-2, 9% ;3

ol
N

i
o

Gaal
N

5x, W -

® .

o] Sulolc}. ujebA A




6. 209=38 7 =3434 1, bh-a 2 FS ot}
|l

>
> ®=et: o

oHd -

23 =8, =343 °|B&2 h—a =0 ©|t}.




7. Al$do2x7?,22x7x11,5x112 9 FAFH5E?

® 2x5x7x11 @ 22x3x7x112
@ 22x5x7?x11x%x13 @22x5x72x112

® 22x52x73x112

Al 2] FaFHlaE 2% x5 x 72 x 112 o,




8. x=2,y=-3<u 2(3x-2y) - 3(3x+ 4y) 2| F& F5loiat.
cCt "

>
> HEh: 42

B

2(3x —2y) — 3(3x + 4y) = 6x — 4y — (9x + 12y)
= —3x — 16y
= 3x2-16x (-3)
=—-6+48 =42




@ 24+ x—2x2=1+42x2

® 3x+24+4=x+6+2x

@ 4x+8=4(x+2)

@ —2x = 3x+ 4x>




10.

70— 14x=3(2x-1) + 13
70— 14x=6x—-3+ 13
20x=70+4+3-13
20x = 60

T x=3




11.

315 o A4A4-2 Falo] oW 4:0] AFo] HLE shelx wet. A
HEg 57] S84 Bk 4% 2 W

#g Fabofet,
=%
=%

35

v V. v Vv
0
L

0x
m

315

B

A=

o A
2o 4=

o} A Mn 2

L
=]
Ak

&

o]

[e]
—

315 =32x5x7
315xn=32x5x7xn=x2 A
n=>5x7xk*&Eo|E2

nes &2 Fo2 37 A EY
n=5x7x1%=235
n=>5x7x2%=140
n=>5x7x3%=2315

.. 35, 315




12. o8 = 5 492x32 %52 22 x3x 5 o ZeF47} ofd ZA-&9

@2)(32 @ 2x3 ® 2x3x%5

@ 15 ® 20
Zokp o) geks-o] oFro) 11 ) FekTt 223 x5 0| B R
@® 2 x 32 & FF7} ofYrt,




13. o® AA%E 252 trol, 37 Lhro], 612 o] @4

etk Sk olelat S $4 e ALY

® 2 @ 3 @1 @ ® 6

~&B

et
2) 24 36 60

2) 12 18 30
3) 6 9 15

2 3 5

Q1.

TS e 25-1 = 24, 371 = 36, 61-1 = 60 &] FF5olch.
THEbA] LoEaLA} SHe 4= 24,36,60 O] FTFok4o] ofot

A

Hf3oFrrt 12 o] 2, o A4 1,2,3,4,6,12 7 2 &




14. of® Aol 2x - 8y & islof shizu] Z2a) A MSIE Y —5x + 3y 7

=giek. o ff §7) T3 4 Fotofet.

- =

— (2x—8y) = —5x + 3y °|T}.
o] A& EH A =-3x-5y 7} Atk

-3x — 5y + (2x - 8y) = —x — 13y ©|t}.




15. g B71S 5402 veh A

x WO SHYEA AS o]
o] 8l Algro] 9 17k W, 7
A Rz st

lé—'ﬂ'i

D 5x-9="7x-3

@5x+9:7x—3

® 5x-9=7x+3

@ 5x+9=T7x+3

@ Tx+9=5x

ol

2102 JetH @ 5x + 9 = 7x - 3 o[t}




